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ECH-III (UT-205/16)

( English Version )

Special credit will be given for precise and correct
answer. Marks will be deducted for spelling
mistakes, untidiness and illegible handwriting.
The figures in the margin indicate full marks.

Group-A
1. Answer any two questions. 10 x 2 =20

A.(a) How is beryllium extracted from beryl ?

Discuss with equations. 3+2

(b) The behaviour of Carbon, the first
element of group-14 is different from
the other elements. Discuss stating

reasons. 5

B. Write with chemical equations what happens
when — 2 1 x 4

2
(a) Ammonia is added to BoHg and heated.

(b) Borax is mixed with Fe,Og and the

mixture is heated on Pt wire.

(c) In presence of gelatine NaOCI solution

is added to ammonia solution.

(d) Fe metal is heated with conc. HNOg.
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C. Write short notes on ( any two ) : 5x2
(a) Calcium carbide
(b) Hydrazoic acid
(c) Borax.

D.(a) How is Born-Haber cycle used to get
the lattice energy value of an ionic
crystal ? Discuss with suitable
example. (3+2)

(b) Give a comparative study of the
elements of group-13 with reference to

their halides and hydrides. ( 2% x 2)

Group-B

2. Answer any three questions : 6x3=18
A.Discuss with reasons the diagonal
relationship of B and $Si. Mention three
similar properties of these two elements.
Mention two uses of silicon. 2+3+1

B. What do you mean by silicones ? How are
they prepared ? State important applications

of it. 2+2+2
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C.(a)

(b)

D.(a)

(b)
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What do you mean by occlusion of
hydrogen ? Explain the cause of

occlusion.
What are the uses of fullerenes ?
(2+2)+2

How does Freon pollute the

environment ?
Arrange H3POg, H3PO, and HgPOs in
order of increasing acidity and explain

your answer with reason. 3+3

E.How can Tin be obtained from Tin stone ?

What is Tin plague ? Write the uses of Tin

metal. 3+2+1

F. (a)

(b)
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Discuss the structure of BoHg by MO.

Differentiate borazine with benzene by

a chemical reaction. 3+3
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3. Answer any four questions.

Group-C
3x4=12

A. 'Boric acid is slippery. Explain.

B. Molecular formula of 'Boron chloride is
BClg but that of aluminium chloride is
Aly,Clg.' — Why ?

C. Al can not be obtained from Al;,Og5 by
carbon reduction process. Explain why.

D. N(CHg)g is basic but not N(SiHg)s.
Why ?

E. Compare the chemical reactivity of
LiAlH 4 and LiBH4.

F. Hydroxyl amine can act both as an
oxidising and a reducing agent. — Give
relevant reactions.

G. SFg is inert but TeFg is very active. —
Comment.

H. Explain the reason of conductivity of
the mixture of BrF 5 and AsF5.
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